
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s SRI VAMSHI ENGINEERING WORKS, MIG-79, DHARMA REDDY COLONY, PHASE-1, OPP.JNTU,

KUKATPALLY, HYDERABAD -500085. NEAR ICIC BANK HYDERABAD Telangana is registered at Ordnance Factory Board for
following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Vehicle Factory Jabalpur CASTING FOR BODY FOR TURRET ASSY. STEEL

40X GOST 977-75[90]

23-02-2019

2 Casting for Bracket for Turret Assy.[90] 23-02-2019

3 UNION BULK HEAD (FOR MPV)[90] 23-02-2019

4 BOLT DRAIN BUSH[90] 23-02-2019

5 BOSS M6X12X30 OST 3[90] 23-02-2019

6 BOSS M6X12X36 OST 3 1496 72[90] 23-02-2019

7 BOSS M8X16X8 OST 3 1496 72[90] 23-02-2019

8 BOSS M12x22x25 OST 3 1496 72[90] 23-02-2019

9 THREADED BOSS[90] 23-02-2019

10 THREADED BOSS M6 X 12MM OD X12MM[90] 23-02-2019

11 THREADED BOSS M8 X 16MM OD X12MM[90] 23-02-2019

12 THREADED BOSS M8 X 16MM OD X25MM[90] 23-02-2019

13 THREADED BOSS M12 X 20MM OD X30MM[90] 23-02-2019

14 THREADED BOSS M8 X 16MM OD X40MM[90] 23-02-2019

15 THREADED BOSS M10 X 20MM OD X 30MM[90] 23-02-2019

16 THREADED BOSS M10X18MMX18MM[90] 23-02-2019

17 BOSS M12 X 25L[90] 23-02-2019

Page 1/4



18 Hinge Driver Hatch Assembly forging[90] 23-02-2019

19 BOSS IS 9550[90] 23-02-2019

20 Catch oblique Hook Steel IS 4365 4379[90] 23-02-2019

21 Handle Gost Std[90] 23-02-2019

22 Eye 765 58 193 A[90] 23-02-2019

23 SPLIT PIN 5 50 IS 549[90] 23-02-2019

24 BOSS M12 X24 OD X 25 L[90] 23-02-2019

25 BOSS M12 X 20 OD X 30L[90] 23-02-2019

26 BOSS M12 X 20 OD X 65L[90] 23-02-2019

27 HINGE GOST STD[90] 23-02-2019

28 AXLE GOST STD OBLIQUE BAR[90] 23-02-2019

29 WHEEL BOLT M 22[90] 12-03-2021

30 BOLT M10 70[90] 12-03-2021

31 LPTA U Bolt with Nut[90] 12-03-2021

32 LPTA Hex Bolt M 14x1x30[90] 12-03-2021

33 LPTA Coller Nuts Hex Bolt M35x1 5[90] 12-03-2021

34 U BOLT REAR SPRING[90] 12-03-2021

35 U BOLT FRONT SPRING[90] 12-03-2021

36 BOLT M12 PART NO L1011210[90] 12-03-2021

37 BOLT M12 PART NO L1011212[90] 12-03-2021

38 BUSH BOLT AGB PART NO X3541815[90] 12-03-2021

39 BOLT M12 PART NO L1011209[90] 12-03-2021

40 BOLT M12 PART NO L1021214[90] 12-03-2021

41 T BOLT CLAMP[90] 12-03-2021

42 Small Arms Factory Button Catch Magazine for JVPC 5.56MM DRG No.

0204-03-02-02-19-002-00DD[70]

24-01-2020

43 PIN STRAIGHT HEADED CQA I 393 11 Description :

PIN STRAIGHT HEADED CQA I 393 11 [ENR

Registration]

07-09-2020

44 Pin Straight Headed 393 27 Description : Pin Straight

Headed 393 27 [ENR Registration]

07-09-2020

Page 2/4



45 Pin Straight Headed CQA I 393 14 Description : Pin

Straight Headed CQA I 393 14 [ENR Registration]

07-09-2020

46 Opto Electronic Factory MOUNT TO DRG NO AF8636709 LF

7432412047[74]

20-07-2020

47 LUG TO DRG NO Y 7810136 LF 9927090268[99] 20-07-2020

48 MOUNT TO DRG NO AF8638134 LF

7432412041[74]

20-07-2020

49 SPRING TO DRG NO Y 7773211 LF 9927091581[99] 20-07-2020

50 PIN TO DRG NO AF8327127 LF 7432411002[74] 20-07-2020

51 RING TO DRG NO AF8241335 LF 7432412030[74] 20-07-2020

52 RING TO DRG NO BSH8241280 LF 7420412002[74] 20-07-2020

53 SPACER I LF 7432511045[74] 20-07-2020

54 CONTACT TO DRG NO AF7732153 LF

7432412009[74]

20-07-2020

55 CONTACT DRG NO AF7732428 LF NO

9927089341[99]

20-07-2020

56 RING TO DRG NO AF8241309 LF NO

7432412029[74]

20-07-2020

57 NUT TO DRG NO AF8934171 LF NO

7432412043[74]

20-07-2020

58 MOUNT LF NO 7432412036[74] 20-07-2020

59 AXLE DRG NO BSH8314081 LF NO 9004091226[90] 20-07-2020

60 WING NUT LF NO 9927090998[99] 20-07-2020

61 RING LF NO 9004090949[90] 20-07-2020

62 CONNECT HOLDER LF NO 9001090114[90] 20-07-2020

63 SPACER III LF NO 7432511044[74] 20-07-2020

64 PULLEY LF NO 7432312011[74] 20-07-2020

65 BUSH LF NO 7432211002[74] 20-07-2020

 

Registration No. : AAXPN3823H

Initial Date of Registration : 23-02-2019

Downloaded at : 11/01/2025 02:25 am

 

Page 3/4



Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 4/4

http://www.tcpdf.org

